Steel Pull

UHF snuzs

< ESE

ili| == i
‘J ‘J
|
D
M L1 J

w L

/
< FF
T

il - ﬁ ﬁ
I = I I

M ‘ L1

w L

BS A L1 D H L

UHF-8-55 8 55 12 40 67
UHF-8-64 8 64 12 40 76
UHF-8-88 8 88 12 40 100
UHF-8-96 8 96 12 40 108
UHF-8-100 8 100 12 40 112
UHF-10-88 10 88 15 47 103
UHF-10-100 10 100 15 47 115
UHF-10-120 10 120 15 47 135
UHF-10-180 10 180 15 47 195
UHF-10-200 10 200 15 47 215
UHF-12-125 |12 125 - 60 137
UHF-12-160 12 160 - 60 172
UHF-12-200 12 200 - 60 212
UHF-12-250 12 250 - 60 262

*1: FRANNATHF.

TV TS T L = Pooxx

RETRN

N NBK

0512-5290-1560

Lf min. M
9 M4
9 M4
9 M4
9 M4
9 M4

13 M5

13 M5

13 M5

13 M5

13 M5

12 M6

12 M6

12 M6

12 M6

& BHZIED = Pooocx

AT L

o RER,

o HAETHUE, AIFEEMBEERRNBR. R,
o fi 0 ((UHF-12] %50 REMML R, BREREMS

EAEM,

o RIENSHREMNSEFRELIE,

REFS
CR

BK

%

RELE

T

EHERIUR (&)

MU = SRERIPER (5R)

o EM I H 2N REAR N AR KEIE (SUSXMT7 ).
BERRLITHERS (BBAAI).

info@nbk1560-chn.com.cn

36
36
36
36
36
42.5
425
42.5
42.5
425
50
50
50
50

B
(N)
1000
1000
1000
1000
1000
1000
1000
1000
1000
1000
1000
1000
1000
1000

B=E(g)

57
63
70
74
76
110
120
135
176
189
221
251
285
336

47 : mm
BRLL BT AR SS
B R~

M4 x10
M4 x10
M4 x10
M4 x10
M4 x10
M5x 12
M5x12
M5x 12
M5x 12
M5x 12
M6x 12
M6x 12
M6x 12
M6x 12

https://www.nbk1560-chn.com.cn/

® HfE. RELLIE

EE

ﬂ@*.‘

PI7N A AR K iR
(SREL [ AR SS)

*1: [UHF-12]RH#H2E,

N NBK

UHF-CR

kL
T

FEES G
R

SUSXM7

0512-5290-1560

info@nbk1560-chn.com.cn

-

UHF-BK UHF

kL

BHERIUR (&) AL = B%RPIR (R)
TR FEE G

R R

SUSXM7 SUSXM7

o TUSIETE

UHF-8-55-BK

I

UHF-8-55-BK-P

\ \ r
awe

ERBLRHIRS (RASIH K, FE-RESKREEM[-P.

https://www.nbk1560-chn.com.cn/

a RoHS



